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0.5

0.0

0.5

-1.0

3T
B=0.9, P<0.001 %\
_ﬁ'fw% 1
;A?%"'*
4
®
j@“}‘
.~r¢<:,L,’ ]
+8-t
\_‘ A
[
[ I I I
-1.0 05 0.0 0.5

GSDMB expression

Figure S3. GSDMB and ORMDL3 are correlated
with regard to their eQTLs. Independent eQTLs
(r2<0.05) that are shared between GSDMB and
ORMDL3 were selected, and a plot was
generated based on their effect sizes.
Therefore, each point on the plot represents an
eQTL. The x-value of the eQTL is its B effect size
on the expression of GSDMB, and the horizontal
error bar represents the standard error around
its B. The y-value of the SNP is its B effect size
on the expression of ORMDL3, and the vertical
error bar represents the standard error around
its B. The dashed line represents the line of best
fit (a line with the intercept of 0 and the slope
of B=0.9).
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